APES Soil Test

Multiple € heive
fdentipy the Cunee Unnt hest completes the stitement or answers the question.

Which ol the Tollowing is the rom cause of loml insceurity?

A msulficient foed resonrces being produced glohally

b, rapid climate change -

€ puveRry

d. political disputes ever natural resources

e poor organization ol governtent agencies

e term amednntrition relees o peaple who

A cal Tess than the basic nusinum sumber ol daily calories

b enl balanced meals

¢ el too much

d  sofler Trom lack of protein and other key nutnients

¢, it too much protein -

Wiiseh of the following types of agriculiuge is most casacteristic off
developing countries’? '
i plantation agricndiure

b iraditional agriculture

¢ mdustriabized sgsicalture

d minimum-bllage agriculiure

¢ high-input agriculture .

e mnjority of soil orgunze matler 1% concentrated mihe

a. 4) horizon of leal hitter

I+ A horizon of topsoil

. Oand A honzons

& Chorizon .

¢ P horizon

Which of the following would nol e esed 4o deseribe polyenliure?
it Plants wiature at various times,

b, “The plod of Tand is left vumanaged For long periods of time.
«.  Fertilizer use and water use are reduced.

i, Pesticides age rarely nevded. .

¢ [tproduces higher vields than high-mput menocultures,
Beeanse root systems al dillerent depths i a given.area of soid caplure
mutrents and soil elliciently we can =av ihat e

a pelvenlture lessens the need lor tertilizer

b polyculture Jessens the need G ferblizer and waler

v, polveuliore increases the need lor Reetilizer Bid nol waler

il polyveulture mcreases the need for water bul noi Fetilizer

¢ potyetltuee lessens the pecd for poilators -

Alost =1l crosion 15 caused by -

A wind and moviag water d PO

b, photosynthesis ) E
v carthguakes i .

Jdo valeanoes 5

v exvess heot

Salt bwldup may

4. nerease crop growth

b, nerease vields A

o eventually Ml weads ; S
d cventnally make the lind unproductive

¢ mittdly decrease vield, but Bier increase yicld

Which ol the followmg can lead (o desertslication?

A cunservittion Gilage

b severe and prolonged drought .

o Crop rofation .

. polyeuliure fanning

¢ terraced crop amangemends

Wihich of the foilowing hest desciibres how the process ol irmgation am

Tead to salinization of soils? =

a. Waler associated with irigateon Hoss from uphill, e salts that
were i the surl uphill end up bang brought w the loser ¢

h. Water associated wath icrigation contams snall amounds ol
ssolved salts. Evaporation leaves hebind mercasing,
concentrifions of these =alls.

€ lmigation water containg salis. Evaporation idlow s the salts 1o he
lilied away. redocing the fevels of sahs m (he sl

d Imgation water is treated with shasolved salt= 1 proguote plant
arowh. Over time the planls become saturated with <alts amd <o
it need this macronugrici. e )

v leagaton is promanly accomplished through the use of ahaindant
sea waler, which contans luph concentrations ot salts

Insiling, wild predators 10 example ol afn) problem caused hy

dnstrealized Tood production .
0 baodiversity loss
I =il

¢ human healih
d o pollutwn
v, waler

12,

10,

19,

2.

e s of wrigated md wsed o produce Tood wrops has increased
simnee F50. 1 can aleobe said that

a The amount of ierigated land per person hay inereased sinee 19501
b The amount of irigated land pur person has deercased since 1951,
¢ The amount of irrigaded Tand per person lias stayed the same sinee

1950,
& The amount of irrigated Jand per person Lor this time period is not
hown.

¢ The amowm of indgated Tand per person lias increased in some
areas ad decreased in others,

Strains of genctically modilicd lued erops can hybridize with wild erop

varietics when

a, The procesy is carelidly controlled in an agricultural lab

b Pollen blows frons the genetically moditicd crop and spreads
among wild variclies,

e Pallen is transterred by tlwe Garmer lrom one crop (o the other,

d. TUis not possible for & genctically modified plan 1o hybridize with
a wild spevies.

< More than one of these answers is correct

Bialogivak control of pests

it cosls more money than pesticides to use

I s loxic o use

e is Fstaacting

d,is not foxic o use

& has never been very ellective

All olihe Tollowing aee tre sbout subsidies Tor food production excupt

A, Subsidics in developed countries aveenge $57 1000 per minute.

b, Mk production quadrupbed in New Zealand ailer fanm subsidies
were ended.

v Food prices in developed counteivs ane kept aetificinlly Tow

d. Developing conntries also receive lurge amounts of subsidics. for
growing fomd.

g Some analysts recommend replacing (raditional subsidics with
subsitlies that promote sustumable agriculiural practices.

Cioveranient subsidics to lishing eets

A, promote overfishing

b promole the seduction of aquatic biodiversity

¢, promote overlishing and reduction of aquatic biediversity

d. reduce the use of bottom-irwling harvests

o are curtently less than ST100.000 per vear

Topseil in the United States as eeoding about

v form,

_times faster than it

a2
h &
e 8
d. 17
¢ 22

Which of the Ffluswing is central o most of the ¢ITors v conserve

topsail?

a.anemphasis on agricultveal praclices tat enhance monocultures

b anmual crop rodations B

€ Keeping the soil coverad by vegeration

d. preventing inseel pesls rom destiroying valuable crops

e comversion ol cropland: inte pasiarelands or feediols

Conservition tillage

1. mereases labor costs

b inercises erosion

C. HIGTCIES CRCTRY Consumiption

b ieeelerates water loss fromn the soil

e decrcases erosion

In afley cropping:

i Crops are planted between hedgerows of trees or <hrubs thal are
ased lor Trusts or fuelwoid

b Termces are butlt o prevent swill water rugoll,

c Plovmg nins acrasy slopes,

Ao Specnl talters are used 5o 1he topsoil is not disturbed.

< Arew ol crops alternates in sieips with another row ol crops.

e provess feast likely Lo conserve sail nutrients is

A crop rolation

b Jertilizing with compas)

¢ lertihizing with precn nunure

d. Jertdizmg with animal nemuee

v ngtion

Vaguneatlinee would be more sustainable it

A cumsers chuse o cat lishy species that are prisgary consumers
insteal of secondary consumers

b conmuimers chose W eal top predators

e lish Lnms were lovited near niingrove lorests

. lish Brms were located near eshearics

¢ cheomcnt pesticides were used to control commmon Tish discases




